@CDI’I’I
ANT-D5G-15

15dBi Outdoor Directional Antenna

Electrical Specification

Frequency Range
Gain
Polarization

Horizontal
Beamwidth

Vertical Beamwidth
Front-to-back ratio
Input impedance
Cable

Connector

Power Handling
Lightning Protection
Survival wind speed
Temperature

Humidity
Weight

Dimensions

IP Rating
Mounting kit
Side Lobe Level

Isolation

Radome color

Radome materia

5150 - 5875 MHz
15.0+1 dBi

Linear, £45°
60° @ 3dB /90° @ 6dB

6° @ 3dB/8° @ 6dB
-20dB (Max.)

50 Ohm

N/A

N jack x 2

6 W (cw)

DC ground

216 km/hr

-40°C to +80°C

95% @ 55°C

1.06kg
1.54 kg (Include mounting kit)

540 x 116 x 39 mm
IPX5
Pole & Wall mount

-6 dB ( Max.)
20 dB (Min.)

Warm gray 1C

ASA, UV resistant(UL94 HB)



ANT-D5G-15

N\ Datasheet
( ZCOom

Radiation Pattern

Port1 Port2

H-plane Co-polarization Pattern H-plane Co-polarization Pattern
2 e 5100 MHz 2- P Y 5100 MHz
2 TN —— 5300 MHz ,5 120~ ~~% —— 5300 MHz
"1 7 » 5500 MHz P N 5500 MHz
0 | / N, ——5700 MHz 1 N —— 5700 MHz
A N9 5900 MHz B B X 5000 MHz
— 1 f - ’," “\
€ ol | 8 o | \
|
§ 64 180 g 5 180 0
|
§o | §o |
8- H
104 |50\\\ o~ 150\\ /“‘/ 0
2 p:
154 154 N\ v
120~ 80
20- 20 - —_? _——
V -plane Co-polarization Pattern V -plane Co-polarization Pattern
" 5100 MHz - - 5100 MHz
o o | %0 —— 5300 MHz g | T 5300 MHz
18 4 N NG 5500 MHz e Pa. X 5500 MHz
10| / N\, —5700 MHz " / \,  ——5700 MHz
15/ 50 = 5900 MHz 159/ 50— 5900 MHz
_ 8 / o @ \
g 0 |" "I g 0- v’ \ll
| \‘ [
§ 54 ! <40 5~ WO a
foim _ # | 5 % 1
g1 | / g1\ /
51\ v 8- y, :
0 w \ & / /% 10 'm\\\ 3 /"/ »
15 N / 1 N g
120~ _ & 120~ C
- SRS T 20 ——




ANT-D5G-15

N\ Datasheet
( ZCOom

Product Drawing

GENERAL TOLERANCE RANGE
| INJECTION(HfHiff:)  X=£0.5 X.X=+0.3 X.XX=%0.2
W ASSEMBLY (] 14F) X=45 X.X=42 X.XX=+1
ANGLES: X=12°
UNIT : MM

540110

1162

3942




ANT-D5G-15

N Datasheet
( ZCOom

Mounting Configuration

@ Antenna body - 1 pc M8 washer - 4 pcs
® M6 washer - 4 pcs ® M8 S/W - 4 pcs
® M6 S/W -2 pcs @ M8 nut - 2 pcs
@ M6 nut - 2 pcs @ M8-110 bolt - 2 pcs
® M6-40 bolt - 2 pcs @ Pole(Diameter :1.5"~3")
® Pole bracket -1 pcs @ Anchor - 4 pcs
@ 3" Pole lock frame -1 pcs Screw- 4 pcs
@® Wall
1.Pole Mounting 2.Wall Mounting

=

dooe

N

Note (3£ ):

1. Mounting recommended torque( % %2 2 3% 44 % 4= /7 ):80 Kgf.cm(7.84 N.m)
2. Mounting Max. torque ( % 22 s X 44 ¥ 42 77 ):120 kgf.cm(11.76 N.m)

3. Mounting Adjustable angle :up:20° /down:20°

Z-COM, INC.

5F, No. 8, Hsin-Ann Road, Hsinchu Science Park, Hsinchu, Taiwan

Tel.: +886 35777364 Fax: +886 35773359 C_.‘
www.zcom.com.tw

Copyright © 2022 Z-COM INC. All rights reserved.




